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Figure 3
Figure 3 shows the circle C' with equation
X4y —10x -8y +32=0
and the line / with equation

2y+x+6=0
(a) Find
(i) the coordinates of the centre of C,
(i1) the radius of C.
3)
(b) Find the shortest distance between C and /.
(5)
@) C rewnute is .
(x-8)"—2G +(~v - =lb+32=0
or (x-5)*+ (’3-4)17- i
() Cowvds 6 cehe ave (€ 4)
() redws =ANa =3
A dobp roe (a) Fo ol-«acofw‘w od dvow Tw fane { chevtal
dushpves (17 o @ gad L7 ko wBase 1k Slesedr- C)
Call cerfre ‘f Curcle P,
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Tha ,l,...jm os whel are Haa covvelineles 0372.
Neod o frd o eqpefice o Ho Loie RaP.
kel R&P -Q-Me -c;l/«,.p..hw
= AMX +C
Qrm.ob.ut t{ L =-% ("J ="'/.17‘-—"“'>
Sv %Mffi&? 2,
Bt RGP pegses Hrorgle (6,4
= 2x+cC
L = O+c
c=—b

= RPa &g %h’a -U’Q-x.—‘o.
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